
                                      

Product & Assembly 
 Manual 

HEATSTRIP
È
 Electric Portable Heater 

Model No. THH1800AP 

Scan here for HEATSTRIP Installation video 

www.heatstrip.com.au 
 



 

2  

 

For repairs or replacement parts, please contact: 
Thermofilm Australia Pty Ltd 

17 Johnston Court, Dandenong South, Victoria 3175, Australia  
Telephone: (03) 9562 3455 

8:30am-5:00pm    Mon-Fri (EST) 
Email: sales@thermofilm.com.au 

 

To obtain the correct replacement parts for your electric radiant heater, please refer to 
the part numbers in this parts list. The following information is required to ensure you 
receive the correct parts: 

1. Model and Serial Number (see label on the heater) 
2. Part Number 
3. Part Description 
4. Quantity of parts needed 

Important: Use only Thermofilm replacement parts. The use of any part that is not a 
Thermofilm replacement part can be dangerous and void your product warranty. Keep 
this Instruction Manual for convenient referral and for part replacement. 

                                   Contents 

 
Product Overview                                                                                                    3      

                                                                                          
  Specifications                                                                                                                                              3  

                                     

 Product Features & Benefits                                                                                                                       3  

                                                                                                                        

Installation Requirements                                                                                       4 

                                    
    Hardware Pack                                                                                                                                           4 

 

Hardware Tools Required                                                                                                                          4 

 

Parts Diagram                                                                                                                                            5 

                                                                                                                             

  Product Part List                                                                                                                                        6 

                                                                                                                             

Assembly Instructions                                                                                            7   

                                                                                                                
Electric Heater Assembly Instructions                                                                                                    7-9 

  

Maintenance and Safety                                                                                        10                                                                                         
                                                             

 Replacement Parts                                                                                                                                   10 
                                     

      Warranty                                                                                                                                                   11 
                                

Manual # Rev A  - Date:2017/02/09 



 

3  

 

Specifications - Australia 

MODEL POWER 
(WATTS) 

CURRENT 
(AMPS) 

DIMENSIONS (mm) WEIGHT 
(Kg) 

LEAD 
LENGTH 
(mm) 

PLUG 

THH1800AP 1800 7.5 1104 (w) x 670 (d) x 2150 (h) 22 3000 Yes 

HEATER TYPE High intensity electric radiant overhead heater with high surface area profiled 
alloy 

POWER  230-240 Volts Nominal at 50ð60 Hertz, Single Phase 

CONNECTION 3 Core Cable 2.5mm
2
 

APPROVALS AUSTRALIA/NZ 

PROTECTION RATING IP55 Protection from water ingress from all directions 

COUNTRY OF ASSEMBLY Australia (Designed, engineered and assembled )  

 Features & Benefits  

 
¶ Stylish, high quality portable, free-standing outdoor heat-
er stand  

¶ Ideal for alfresco areas, balconies, apartments & hospital-
ity  (internal & external use)  

¶ Heating area up to 3 - 4m2  
¶ Concealed power cable ensures a sleek appearance 
¶ Black, no glow heater  
¶ Components are sub-assembled for easy DIY installation 
¶ In-built wheels for easy portability, perfect for residential 
and commercial applications  

¶ Corrosion protected for even the toughest environments  
¶ 2 year residential and 1 year commercial warranty 
¶ Heater: High temp ceramic coated extruded alloy 
¶ Stand: E-coated mild steel with powder coat finish  
 
 

 Tips  
 
¶ If an extension lead is required, use one as short as pos-
sible, as a long lead may result in performance loss  

¶ Locate the heater as close to the power point as possible  
¶ This portable heater is for spot heating only. Locate as 
close to the area you want to heat as possible (e.g. Ta-
ble)  

¶ Store under cover to prolong heater life  
 
 
 
 

 

 



 

4  

 

Pan Head Screw M6x 
10mm  
Qty: 27 
Part # S112M06102 

Pan Head Screw M5x 10mm 
Qty: 4 
Part # S112M0510A 

Hardware Diagram for THH1800AP 

PART # PART DESCRIPTION QTY PURPOSE OF PART 

P06033001A Hardware Pack  For use in assembly of THH1800AP 

S112M06102 Pan Head Screw M6  x 10mm  Install Base Brackets  to Base 

S112M06102 Pan Head Screw M6  x 10mm  Install Lower Post to Base 

S112M06102 Pan Head Screw M6  x 10mm  
  
Install Side Panels to Lower Post &  Base 

S112M06102 Pan Head Screw M6  x 10mm  

S112M06102 Pan Head Screw M6  x 10mm  
  
Install Real panel to Side Panel & Lower  Post 

S112M05102 Pan Head Screw M5  x 10mm  

S112M06102 Pan Head Screw M6  x 10mm  Install Heater Bracket to Upper  Post 

S112M06102 Pan Head Screw M6  x 10mm  Install Upper Post to Lower Post 

  
Screwdriver  

  

Already Installed in Base 

S112M0610A Pan Head Screw M6  x 10mm  Install Lower Post to Base 

S112M0610A Pan Head Screw M6  x 10mm  Install Heater Bracket to Upper  Post 

Already Installed in Head Outer Case 

S01010021A Bolt M6  x 130mm  Install Heater Bracket 

Hardware Pack For THH1800AP 

Phillips Head Screwdriver 
required (Not Included) 
 



 

5  

 

Parts List of THH1800AP 

Key Description Part No Qty 

 Wheel P03351004D  

 Skid Pad P05518114I  

 Base P03351001D  

 Kick Plate P03351002D  

 Fixed Bracket P03351003D  

 Post - Rear, Lower P03351005D  

 Post - Rear, Upper P03351006D  

 Post - Front, Lower P03351007D  

 Post - Front, Upper P03351008D  

10 Side Panel / Left P03351009D  

11 Side Panel / Right P03351010D  

12 Rear Panel P03351011D  

13 Heater Bracket  P03351012D  

14 Base Bracket P03351013D  

15 Electric Heater, 1800W  THH1800A  1 



 

6  

 

Parts Diagram 

Key Description  

1 Wheel  

2 Skid Pad  

3 Base  

4 Kick Plate  

5 Fixed Bracket  

6 PostðRear, Lower  

7 PostðRear, Upper  

8 PostðFront, Lower  

9 PostðFront, Upper  

10 Side Panel / Left  

11 Side Panel / Right  

12 Rear Panel  

13 Heater Bracket  

14 Base Bracket  

15 Electric Heater Model THH1800A 

15 


